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A man shares and even if he is blemished — 277 BYa Y99I PRI WOR

Overview

The xn>>12 cites the P09 of! PARD WX 7°70 777X %12 95, and derives from the word
WX to include a 0 H¥2 in sharing 2°w7p (and to exclude a jup from sharing in 2°w7p).
mooINn qualifies what the correct 7wA7 is.
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We do not derive from here (the P05 of 1nX> woX) that a 0 Hva is DWIP2a PN,
but rather from another o5 which states, ‘every male’; the word 95 (every)

includes a 2m bya -
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So this w7 here of w°X is not necessary to include a 011 %v2, but rather it teaches
us that a minor 377> does not share in 2°w7p even if he is unblemished.

Summary
We know that a 0w Hva is 2°w7p2 P21 from 131 95, we derive from wX that a Jup,

even a an, is not P,

Thinking it over
There are times when the 0"2n" cites a P109 as a source or a 71977, which is not the
05 which is cited in the X3, How is this m»0In a support to the "an?°
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